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Exam Style Questions

Area: Compound Shapes CorbettmOtths

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

k.

Guidance

1. Read each guestion carefully before you begin answering it.
2. Don't spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

g Revision for this topic
www.corbettmaths.com/contents
Video 41
Video 42
.
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Calculate the area of the shape.

2. Shownis an L shape.

B 10em (D 10 x4 (0"

4ecm

13cm

WA
Not to scale 40* " s S‘m‘l

Zcm
Calculate the area of the shape.
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E’» @ 4cm
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4cm CD Not drawn
5cm  accurately

Scm () 5% 15en

Calculate the area of the shape.
- @) xy e
4Fr1s =93

E 7cm
X @ 10cm

The area of the compound shape is 106cm?. @) 411 < “’-

Work out the size of x.
Fori =10 }

413 3‘
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5. Connor is painting the front of his house.

2

2m

0.9m

3m @ 1.3m
@ 2m

7m
The tin of paint he has can cover 16m?. “ m : 3 x1 - a"

Will he have enough paint'_? (D.. 1, '.3 s a. b

You must show your workings. 0,. 1LY¥04 = "i
21-3-b-+4
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7. The shape below is made from five identical squares.

The area of the shape is 180cm?.

Work out the length of side y.
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Mot drawn
to scale

' 2.1m
o |

The diagram represents the side view of a shed with a sloping roof.
Calculate the area of the side view of the shed.
Give your answer to an appropriate degree of accuracy.

O vixg: 3+
(_9 ,(,g,(a8 O}aﬁ'

434 +0° 1% 47
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9. Shown is the plan of a small field.

a ‘ " 20m

© &,

(\') 18m

14m

11m

Thomas is going to keep some chickens in the field.
Each chicken needs 5m?.

Work out the greatest number of chickens Thomas can keep in the field.

I 'l},l{f L P
Lxbx?s Alm’

151421 23 3m

2735 Se.b
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10. Bea makes a logo for a club in school.
a ) bcm

6cm

Work out the area of the logo.

) 4 (60)2b = T e

@ ‘ilﬂ-*q=fﬁ'u}
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11.  The diagram shows a rectangle with a circle cut out.
Not drawn to

scale
20cm

(\) . 1lcm

The rectangle has length 20cm and width 11cm.
The circle has diameter 8cm.

Work out the shaded area.
Give your answer correct to 2 decimal places.

(l) 20 x\| = 390em
@ A W et = 50.2450-..
220-50.265.. = (f9.7 3%....

1
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12.  Shown is a cross-section of a river,

Not drawn
to scale

...........................................

10m

Calculate an estimate of the area of the cross section by considering the
trapezium, rectangle and triangle.

@) yrvlo~ .
D '.{(.,_*,,)d-n(,.z..
@ Lxxbs = 1a”

Lo46:3+4=553
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13.  Shownis an L shape.

&

3x
by |2

1y |3y

X

All measurements are in centimetras.
Find an expression for the area of the L shape.

uj : 31j -.ij

2 CORBETTMATHS 2014



